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1. (20%) Under dc condition, determine the load current i, and the energy stored in the SmF

capacitor.
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2. (20%) (a) When the load R is not connected, the current through 69 resistor is i=1A.
Determine the source voltage v, (b) If the load R is connected, what is the maximum power
can be transferred to R ?
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4. (20%) Suppose that the switch has been closed for a long time and is opened at t=0.
Determine the inductor current i(7) for £>0.
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5. (20%) Consider the following third-order circuit with input voltage v(f). Write the state

equation  x()= Ax(t)+bv(t) , where x(t) = [x,(r) x, () X, (t)]T contains three state

variables x;(t), x,(t) and x,(t) shown in the circuit.
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